Bllipse parawmcters ])F @

You already have a diagraw illvstrating the basic parameters

of aw cllipse. Remecwber Euat aw €llipse (s Aefined by two
points, callea the “foci” of tue ¢llipse (cach ouc is callea

“focus'). For all points oOn € e ¢ll¢'p}¢,'fk¢ Co b incd clc':éaul.is_‘

from both foci have tae famc valuc. This s tae rcason that

You Wwere able to deraw Your cllipse by inferbing a drawing<pin
at cack f'OCus, atbtaching a JString (loouly) between 61\6“&‘
and Séutc‘u’;" tie Stn'uJ éo’,htly with, the tip of yovr peam
and Woving all the way arovud both foei,

The properbics of ellipses arc (wmportant for Scverel reasouns.
For csawlcl all €ac permancat wembers of Euhe Sun revelue iy,
¢lliptical orbite of different ecceatricibies; the molion of the
Mosn arovwmd the Earth s clliptical, wika the periqee Considecably
less Ehaw  +he apo4gcc.

As long as you do wobt put Your foci on Lop of cach otter,
the resulting will have a (nla{:a'wl.,) /ouj Major Axi¢ auw
a Shortee Minor Axis, with the lengta of tac String <gval
ko tue Major Axis, Half tue Major Axis is called tee
Semi- Major Axis (den s ted by “a ); half the Minor Axis s

Called the Semi= Miwnor Axis (alcnol;e.t by “g4 ) The distauce
jrom the Centre of the ellipse (luarkut with anw X))

: ‘g fle distacee
o cack focus (s Sewme times called §, So Lhe distae

be tween tee two foci (s eqval ts 2f .



@

s you stvdy fhc c@\laeiou icﬁuiuﬁ the cccentricity, ¢,

Wheee b i< the Semi- Miwor AXis

and & (s the Sewi- Major Axis
at l

iﬁ is clear tkue’ for a Circle (f“’ which a = 6)
has au cccentricity of 3evo . Ktﬁcrﬂ'n’ t the q,wd:lou,
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For a highly~ flattened cllipse (‘a" woch, greaker ﬂwa.“ﬁ")

by s el . That is, 1~ &% 2 |
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Svppa“, foy exawmple y L
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Substiteting into the equation,
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Cowns ider a muveh less flutffkcd. C“ipsc. {—w wWhich b = 3
T
bt -
at (6
2 0-56
e z jl — 056

0-66, for an orbit

Y4 w calevlated to be

[4}

Which has these param:fcr:

For ny Jrawf«.ﬂ of aw cuc'pSc, on page @)

b = 9:9 om aud
A < IZ- z om U‘l.‘tj c = '____ b‘L
e
__é_‘ - 9:-9 m
a ' .
122 O Gwk sub sts'l:vtfuq :
= 9581 e =Il - oéf’(s’)
: l \ 4
b < (08 [0-35
“'1
= 0-65(5) = 0-53
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